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(a) - 5/38 - 5c = 30

T
Y
c = - 6

(b) 6115 16c = 15

No Integer a

F

16/0 6c = 0

+( = 0)
id old

0c = 6

F me solution

2 . 54 = 3423



si 3 34 33
↳ = 0

I 39 27-47 26 18 54

1 , 2 ,
3
,
6
,
9
,
18 , 27 , 54

#L

↳ttime 37

If - Then A = S
I Conclusion

hyptress

⑤impossible

Compound conditorsThet It



and Aus

or AuB
-

vacuousuth& If A trou

when A is false , then

A-B is the Drometra
55 Profs
-

(
Argument that shows a

Meain) 13 true always

position! The sum of two

it tagers S even

Profi



If X andY are

tagers Men
is

Im an even

& IntegerA B

③ Let X and Y
be two

odd in tegars CET)
② Since x is odd ,

there's an

integer c so that x= Ic+)S InceS y is odd , there's an

integer I so that y = 24H

Therefore

* x+y = (2c+)
+ (2d+1)

= 2 + 1 + 26+

= 2c + 26 +2

= 2(c + d + 1)
Is divisible by 2 because



Since and are integers , so

is (ard +)

herefore >ty is even 1
end of

iNotes katformat ! Prof
QED

& Converted staten ent to

ifAmen
③ State hypothesis A
& Start with , un wind

hypothesis to see exactly
what A delivers

& Creative-step : did some

algebra to see conclusio

& State acclusion



E2 Prove that the cube of

an odd number is odd.
A A

ZProf : If x is an odd integer
tranan odd integer,

13

Let x be an odd in tagar,

Since x is old ,
there's an

integer a so that x= 2ct)

Therefore X = (2 +13 =

(2ck)(Et/2ct) =

-

-

( 42 + 2c + 2c + 1)(2ct)
(42 +4cHkicm) =
-

2(42+ 4 c+1) + 1(4c+4c+)

83 + 82 + 2 + 4c+ Yc+) =
- =

= - -



8c3 + 12 +6 + 1

= 2(43+ 65 + 3) + 1
um

Sing a is an integr,
so 4c +G+Ec

, su

x3 is odd

#3 If an integer is divisible

by a second integer, than

so is any integer multiple
of I.

We must show that if A

A ark, a are integert, anfDe↳ Bes must
I in
of a



Letakic be in tegos so that

bla.
Since bla

, there's an integard
So trat bd= a

Therefore ac = (bd)c
-> b(dc)

da is an integer (61 dis

are)
,
so

blac by definition.
- +

iQuestion Are differences of
-

squares composite ? D
1
.

e
,
if you are integue , is

x
=

- composite ?
2 2 for this toNeed x -

make



1
.
e .

X = 2
, 2

= Y

x -y = 4- 16 = -12

not caposite

suppose x 2
2

22- 1 = 3 not caposite

3222 5 not composite

y -22= 12 composite

32-1
,
42-1

,
52 22 =

gests: The difference of

mon consecutive squares is

composite.
A false T 52 (-y)2 Emp

42- ( -3)" = und
-

G not

fail 52-1512= ⑧



Injecture: differences of savares

of renconsecutive positive
integers is composite

"Rof" If X ,Y
are positie

Iintegers and naumsectet
tran y2y2 is composite

y-x= (y- x)(y+x
a l

(a = y Y


